Multiplication et Division par 10* (E)

9+ 10 =

14 =10 =

3+-10'=

26 x 10* =

59 x 10!

47 x 10*

91 x 10?

96 =+ 10 =

79 x 101 =

36 +~ 10 =

Trouvez chaque produit ou quotient.

31 x 10*

97 + 10 =

63 =+ 10!

63 + 10"

82 x 10*

72+ 10 =

30+ 10" =

96 =+ 10 =

51 x 10! =

39 x 10* =
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Multiplication et Division par 10" (E) Solutions

9+10'=0,9

14 +10'=14

3+10'=0,3

26 X 10* =260

59 x 10' = 590

47 x 10' =470

91 x 10* =910

96 +~ 10 =9,6

79 x 10* =790

36 +10'=3,6

Trouvez chaque produit ou quotient.

31x10'=310

97 +10'=9,7

63 +10'=16,3

63 +10'=6,3

82 x 10* =820

72 +10'=7,2

30+10'=3

96 +~ 10 =9,6

51 x 10* =510

39 x 10* =390
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